


Math 1010 Final Exam

Form A, Fall 2011

Name:

Instructor: SH#:

Each problem is equally weighted. Scientific calculators are permitted.
Time Limit: Two hours

Not allowed: notes, books, graphing/programmable calculators, cell phones, handhelds, headphones.

1. Determine the system of equations that models the following situation:
“The sum of two numbers is 42. The first number is 6 less than the second number. Find the
two numbers.”

(a) 9; +=yy=_462
(c) xx-ly-;iz6
(d) ’;+_yy==462

(e) Impossible to determine from the information given

2. Solve9m—-15—-2m=6m—1—m

(@ m=7
(b) m=0
(c) m=38
(d) m =14

(e) No solution



3. Solve the following system of linear equations. What is the x-coordinate of the solution?

{Zxx_-l-yy:36
(@ x=0
(b) x =6
() x=-6
(d) x=3

(e) No solution.

4. Solve for Fin the following equation: C = S(F —-32)
(a) F=2C—32

(b) F =§(c —32)
(c) F =§(c +32)
(d) F = %C +32
(e) F = gc +32
5. How much 5% acid solution and how much 10% acid solution must be mixed to make 2.5 liters
of a 7% acid solution?
(a) 1 liter of the 5% solution

1.5 liters of the 10% solution

(b) 1.5 liters of the 5% solution
1 liter of the 10% solution

(c) 2liters of the 5% solution
0.5 liters of the 10% solution

(d) 0.5 liter of the 5% solution
2 liters of the 10% solution

(e) Impossible to determine from the information given



6. Let f(x) =x%+x—5. Find f(=3).

(@) 1 (b) -17 (c) 7 (d) 25 (e) 26

7. Find the distance between the points G,l) and (i —1).

(a) 3v2 2 S
(b) 0
(c) 2
(d) V2

(e) 2

8. Solve forx: log,(2x + 6) = 2.
(@) x=3 (b) x =1 (€) x=—2 (d) x =2 (e) x=5

9. Find the equation of the line perpendicular to 3x — 2y = 6 passing through the point (-5, 1).

Write your answer in slope-intercept form.
7

w)y=—§x—3

(b) y=—2x+=

3 17
() y=sx+—

w)y=—§x—§

13

(e) y=§x—7



10. Simplify to the form a+bi: ﬁ +i?
(@) @

(b) —i

11,
© 5-3!
101,
@ =5=3!
(e) =1+
11. Divide
x3—x+7
x—5
27
(a) X+4+E
(b) x% + 5x + 24 + =L
x—=5
(c) x? —x+2
—x2 — Gy — 127
(d) —x“ —5x 24+x_5
(e) x2 —2x+12
12. Solve the following equation for x
Vx+6=x+4
(a) x =-5
(b) x =-2

() x==-5x=-2

(d) x=0

(e) No solution



13. Huck can paint a fence in 3 hours. Tom takes 5 hours to paint a fence. How long will it take
them together to paint the fence?

14.

15.

(a) 2 hours

(b) 4 hours
(c) 1 Z hours
8

(d) 8hours

(e) 1 é hours

Simplify and write the answer using positive exponents only. Assume the variables are positive.

xlO
@) &

(b)

.X'2
4y10

(

(

8x 3 y* )—2

4x—2y~1

X2
¢ — 4y10

Graph the following function: f(x) = 4**1

(a)

(b)

(©

(d)

(d)

2x2
510

xlO
(©) &




16.

17.

Solve the following equation fory
3+2ly—1|=7

(@ y=3
(b) y=-1y=3
() y=-1

12
(d) y=+

1

2 2
(€) y=7,y=—;

Find the domain D of the following relation.
{(2,3),(8,11),(7,9), (2,14)}

(@) D =1{2,8,7}

(b) D ={3,11,9,14}

(c) D={x|2<x<8}

(d) D ={x|3 < x < 14}

(e) D = {all real numbers}

18. Simplify V—=27x5y7

(a) —9xy23\/xTy
(b) —9x%y3\/x2y*
(c) 3x2y* /xZy*
(d) —3xy3\/x_y

(e) —3xy23\/m



19. Solve the following equation for x

2 11
x+4 x2—-16 x—4

(@) x =13

(b) x =9

(c) x=-3

(d) x=—1,x=3
(e) x=1
20. Simplify

x% + 8x + 15 ‘ x% + 5x
x2+11x+24  x2+x—-56

(d)

x2+11x+24

x=7

(e)

X

21. Solve the following equation for x
4x* —7x =3

7-/97 7+\/W}

8 ' 8

8—1/97 8+\/97}
7 77



22. A ballis launched off an 84-foot-tall cliff. The height of the ball is given by the function:
h(t) = —16t? + 32t + 84. How long after the ball is launched will it hit the ground?
(a) Oseconds
(b) 1.5 seconds
(c) 2.5seconds

(d) 3 seconds

(e) 3.5seconds

23. Graph the system of inequalities
2Xx+y<4andx-1>0

(©

(b) (d)




24,

25.

26.

27.

Find the center and radius of the circle defined by the equation:
x> +y2—10x+4y +20 =0

(@) Center=(5,2) Radius=9

(b) Center=(—2,5) Radius=3

(c) Center=(-=5,2) Radius=9

(d) Center=(5,—2) Radius=3

(e) Center=(2,—5) Radius=1

Meriwether and William can row their boat 39 miles downstream in the same time it takes them
to row 15 miles upstream. The speed of their boat in still water is 9 miles per hour. Find the
speed of the river’s current.
(a) 1 mph (b) 2 mph (c) 4 mph (d) 6 mph (e) 9 mph
Solve the following equation:

3x% — 8x = —10x?

(a) x=0,x=§,x=—4
(b) x=2,x=—4

(c) x =+340

(d) x=—§,x=4
(e) x=0,x=—§,x=2

Let f(x) = x+ 1and g(x) = x% — 2. Find (f - g)(x).
(@) x?+x—1

(b) x2+2x—1
(c) x> —1
(d) x3+x?—2x—2

() x? +x+2



28. Solve for x. Write the answer in interval notation.

29.

30.

|2x + 3] < 4
@ [5)

(b) (—eo,-]
@ (-e-Fofe)
@ [=33]
o (ce-Y o)

Perform the indicated operation and simplify if possible
x+1 x+17

x+3 xZ—x—12
___ 1
(a) (x+3)(x—4)
x+12
(x+3)(x—4)

(b)

(€ —

(d)

(e)
Simplify (2x + 5)2 — (2x + 5)(2x — 5)
(a) 8

(b) 20x

(c) 20x + 50

(d) 20x2 + 8x

(e) 8x+6



